National 3 - Homework Exercise 2

All Questions to be completed without a calculator
Name-

1. Patrick is going from Queen Street Station to Greenfaulds by train.
The trains run at regular intervals.
Part of the train timetable is shown below:

Train timetable

Depart: 1622 | 1652 | 1722 | 1752

Queen Street

Arrive;
Greenfaulds

1642 | 1712 | 1742 1842

(a) Complete the timetable to show the remaining departure and arrival times of the
next four trains.

(b) Patrick has decided to catch the train which leaves Queen Street at 1352. What
time will he arrive at Greenfaulds? Give your answer in both 12 and 24 hour time.

Answer:
2. Measure and write down the length of the pencil in :-
(a) millimetres (b) centimetres and millimetres (c) centimetres
e J—
-
Answers: (a) (b) (©)
3.

—2000ml What amount of liquid shown in the diagram.

Answer:

—1000ml
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